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31 Let Sx = {x_1,%cdots ,x_n)%5, where the 5x_15 are non-negative real numbers. Seth}
32 WEOMorOO=\leftO\Fraci{x_1Ar+x_2Ar+hcdots +x_nAr}{n}yright)A{1/r} ,%, r “in ‘mathbf{R} * ‘backslash %, ° vy %] and
33 WOOM_0(G)=(x_1 »_2 ‘cdots wx_ndA{1/n} . ]
34 We call $M_r(x)§% the 3 rth % ,power % ,mean § of x."}
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48 *_AM{n-11&x_2A{n-1}&x_3A{n-1}&" 1dots&x_n"{n-1}
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53 ‘\end{block}
g 34 end{frame}
55 » “begin{framel}
36 O Tframetitle{‘centerline{Question 4 [ Part-1 ]}}
57 » “begin{mdframed}



58
59
&0 -
&l
B2
R

o o
oo
4

==

o o
ooca
4

B R N

4

o

=
4

[ e I A I B M B B M |
| R ¥ B i
4

=]
I

83 ~
a4
85
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i 2% “1im_{x “wrightarrow “infty} “Ffrac{'pi x}{x/Tog x}=153
88 end{mdframed}

89 ~ begin{mdframed}

a0 £5 vant_{-‘inftylA\ainfty} er{-wA2} dx=\sgrt{'pi} %%
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7 Positive numbers %£a,b,% and 5ci% are the side lengths of a triangle if and only if %fa+b-~c,b+c=a,% and Sc+a=b. %
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100 The area of a triangle with side lengths %a,b,ci% is given by Heron’s formula:
101 WA = sart{s(s-a)(s-b)(s-c)} ,u]
102 where = is the semiperimeter 5(a+b+c)/2.%
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104 ~ “begin{mdframed}
105 The wvolume of a regular tetrahedron of edge length 1 1s %=qrtf{2}/12.%
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112 The guadratic equation fax’2+bx+c=0% has roots

113 “r_i,r_2="frac{-b'pm “sgrt{br2-4ac}}{2a}."]
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115 - Woeginf{mdframed}
116 The derivative of a function 5% , denoted 3f',% is defined by
117 ST = Tim_{hrightarrow 0} “frac{f{(x+h)-f{x)}{h%."]
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120 A real-valued function %% is convex on an interval 3I% Aif
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1238 ~ begin{mdframed}
129 The general solution to the differential equation
130 WLy -3y e 2y=00]
131 is
132 Y lw=C_1 erw+C_2 enfzwl.n]
133 wend{mdframed}
134 ~ Yhegin{mdframed}
135 The Fermat number 3%F_n% is defined as
136 W [F_n=2A{2An}, nhogeq 0.%]
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Ybegin{eqnarray=}

1+2&=&3"",

A+5+6&=ET+8" ",
O+10+11+128=813+14+15" ",
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229~ “begin{egnarray=}
230 “tan(halpha+'beta+ gammal&=&" frac{"tan(’alpha+'beta)+'tan (" gamma) }{1-"tan("alpha+'beta)  tan'.gammal",
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